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Hardware: Some sensor costs are on the critical path

GPS (global positioning system) . 1 Lidar (light detection and ranging)

combined with readings from tachometers, — [_ monitor the vehicle's surroundings (road, vehicles,
altimeters and gyroscopes to provide the most — D?GESWEIF?S; etc.)

accurate positioning Cost: $90-8,000

Cost: $60-$6,000 ¢

Video cameras monltor the vehicle's

: i surroundings (road, vehicles, pedestians,
Ultrasonic sensors to = ete.) and read traffic lights
measure the position of objects very | . Cost (Mono) 5150

close lu the vcmcle Cost (Stereo): $

=

Odometry sensors o I
complement and improve GPS
Information

Cosl: 5B0-5120

505200

|
Y=
. \\
| ~.._ \ | Radar sensors monitor the

Central computer analyzes all sensor input, e \; vehicle's surroundings (road, vehicles,
applies rules of the road and operates the steering, " pedestrians, efc.)
accelerator and brakes Cosl (Long Range): § §
Cost: ~50-200% of sensor costs Cost (Short Range): $50-510C

2014 costs
vx — Expected cost in next ~3 years (cost estimates are highly variable
as different technical specifications are used in different applications)
Source: Expen intendews; compary infarmation; BCG analysis <
The Boston ConsuLring Group 8
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Reinforcement Learning

Deep Learning
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